Assessing recreation values of
Strizovicky vrch by contingent
valuation method.

problems and experiences

Mgr. Petr Lupac

Department of Sociology
Faculty of Arts, Charles University

E-mail: petr.lupac@centrum.cz



Introduction

Strizovice peak next to KliSe district in Usti nad
Labem

Business plan to build up a sport-recreational
complex in the Strizovice peak area — roofed
downhill skiing, swimming pools

Formation of a civic movement that question
procedure of land-use planning, a public debate
begins

Use of contingent valuation method under
conditions of independent student research



- Actual state of Strizovice peak — variant B

Source: author




Projected look at the Strizovice peak — variant A

Source: investor



General information - survey

Sample: N=328
On-site survey, standardized interview
Quota sampling (citizen of Usti nad Labem, sex, age,

education; district was not chosen as a quota but

interviewers were allocated all around the town), sampling
frame: CSU

Interviewer’s network: 17 instructed students of FZP UJEP

Specific form of CVM used in questionnaire according to
Czech Ecological Institute’s use of CVM in Tman, 1995
(controversial building of a cement factory)



Anticipated problems and used solutions
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The structure of the questionnaire

_______________________________________________________________________________

______________________________________________________________________________________________________

. c. Attitudes to problems of an environment in general (Q7) |
Introduction of both scenarios 1
d. Attitudes to problems of a local environment (Q9) ’

_______________________________________________________________________________________________________

——————————————————————————————————————————————————————————————————————————————————————————————————————————————————————

' f. Evaluation by those who have chosen scenario B>
' |. Question evoking the market situation — the paying card (Q10)
ll. Expression of the subjective monetary value that would be paid
for a long period (15 years) in the case of scenario B (Q11)



The act of evaluation
Step I.

* Explanation why expenses will rise if no sport complex would be built (variant A)

‘ Imagine the situation if no area Eden park would be built. There will be no new jobs and town

hall will not be accepting a rent for at least 15 years. As a result, some local fees and town
services could be more expensive.

» Estimated increase of expenditure using the paying card.

Step Il.

» Respondent initiated to the necessity of money expense.
 Prompt to consider previous valuation and long-term payment aspect.

Carefully consider and specify the highest amount of money that you would be willing

to pay
personally every month for a long time (15 years — estimated technological lifespan of m
center) only for substitute the variant A for the variant B. ASSUME THAT WITH
REALIZATION OF THE VARIANT B NO LOCAL FEES WOULD CHANGE. NOW YOU
CAN CHANGE COMPLETELY THE FIGURE NAMED IN PREVIOUS QUESTION. TAKE

THE NET MONTH INCOME OF YOUR HOUSEHOLD PER HEAD AND CONSIDER
S WHAT MAXIMAL SUM OF MONEY WOULD BE BEARABLE FOR YOU PERSONALLY?

'

« Spontaneous utterance of a sum of money that a respondent would be
willing to pay




10)

Questionnaire — part VIl (Q10-Q11)

ODPOVIDATI JENOM TL KTERI VOLI VARIANTU B V OTAZCE 901. Piedstavte si situaci, kdy
nebude vvbudovan areal Eden park. Nebudou vvtvoiena nova pracovni mista a mésto piijde o prijem z
pronajmu po dobu min. 15 let a v dasledkn by tak mohlo dojit ke zvyieni nékterych mistnich poplatkni a
cen méstskych sluzeb. O KOLIK BY SE V TETO SOUVISLOSTI S PRIJETIM VARIANTY B
MOHLY ZVYSIT MESICNI VYDAJE VASI DOMACNOSTI, ABYSTE STALE VOLIL VARIANTU
B? Vvberte sumu, Kktera je nejblize zvolené ¢istce.

PREDLOZTE KARTU 10. ZAKROUZKUITE ODPOVED

0 50 150 300|500 a vice
1 60 160 320
3 70 170 340
5 30 180 360
10 90 190 380
15 100 200 400
20 110 220 420
25 120 240 440
30 130 260 460
40 140 280 480

PREDLOZTE KARTU VARIANTA | A“ A KARTU VARIANTA _B“

11)

Tato otiazka je velmi dulezita. Peclivé zvaite a upi‘esnéte, jakou nejvyssi ¢astku byste byl/a vy osobné
ochoten (ochotna) platit kaidy mésic po dlouhou dobu (15 let - technologicka zivotnost arealu) jen za to,
ze bude varianta A nahrazena variantou B. PREDPOKLADEJTE. ZE REALIZACI VARIANTY B BY
SE VASE MISTNI POPLATKY NEZMENILY. CASTKU STANOVENOU V MINULE OTAZCE
MUZETE NYNI ZCELA ZMENIT. VEMTE V UVAHU CISTY MESICNI PRIJEM NA HLAVI VE
VASI DOMACNOSTI A ZVAZTE JAKA MANIMAINI CASTKA BY BYLA PRO VAS OSOBNE
IINOSNA?




Results

66,5% (218) have chosen scenario B - not to build.

« If we only count for figures that are lower than 100 Kc,

then the average is 49,- (10x higher than ,needed")

People who have chosen scenario A more inclined to assess local
environmental problems as really serious after introduction of
scenarios (difference was statistically significant for a=0,001).



Results of valuation ATk B 0P

« Spontaneous utterance of a sum of money that a respondent would be
willing to pay for a long time
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Lessons from the survey

* \We located strong “hypothetical bias” that
is reflected by “banknote’s efect”!)

— We recommend to emphasize the long-term
aspect of payment (in similar surveys)

 Trained interviewer's net is needful

1) The same distribution was present in results from Tman survey (1995)



